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Contents 
This answer booklet is designed to help you mark your own work. 

Don’t use it to cheat! 

That would be silly and ultimately pointless because you will learn 
nothing! 
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1) Financial 
Documents                     

 

Good Received Note 

Order Form 

C 

Receipt 

Credit note 

Statement 

Sales Invoice 

Delivery Note 

Remittance Advice Slip 

Cheque 



6 
 

 

 

 

 

 

 

 

 

 

 

 





 

 





7 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

15 

20 

12 

Leather Belts

Silky Scarves

Pairs of gloves

SSM 342

SWL 517

DE 87

Today

This mistake could lead to Trendy having inaccurate records of stock which in turn could 
mean the business accepts an order that they cannot fulfil. This will leave the customer 
dissatisfied and unlikely to order again. 
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20%

24th May 2014 

2nd June 2014

1000  00 

3500  00 

00 4680 

936  00 

00 5616 

Problem 1: 

The wrong amount could be paid which would lead to inaccurate records 
and potentially lost money. 

Problem 2: 

Customers are likely to avoid using the company again in the future as 
they would perceive the business as being unreliable. 
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Purchase 

Order 
Invoice

Cheque 
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2) Computerised      
Accounting 
Systems 

Billy-Bob Brannan has been told by his friend Jimmy-John Jingle that he would 
benefit from introducing a computerised accounting system to help him complete his 
financial documents. Billy-Bob isn’t sure what a computerised accounting system is 
or what it does. Help Billy-Bob out by explaining what a computerised accounting 
system is and how it might help him with his business selling Banjo’s. 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

 

 

 

 

 

A Computerised accounting system is an automated system used to create financial documents 

and manage business accounts. Billy‐Bob would benefit from using a computerised accounting 

system as it would reduce the amount of human input needed in creating the documents and 

organising the company’s account. This saves both time and money that can be used elsewhere. 
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Billy-Bob likes the sound of introducing a computerised accounting system but just 
as he was looking to invest, Jimmy-John explains that a computerised accounting 
system could potentially lead to a drop in profits. Billy-Bob is confused again. Help 
him out again by explaining why a computerised accounting system could lead to a 
drop in profits 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

………………………………………………………………………………………………
…………………………………………………………… 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Computerised accounting systems are not always guaranteed to be a success. Computerised 

accounting systems are very expensive to install and maintain. If Billy‐Bob doesn’t get regular 

orders he might struggle to afford the new system. There are also costs if the system goes wrong 

which could be so expensive that Billy‐Bob cannot afford to maintain the system. If Billy‐Bob’s 

costs increase then this will reduce the amount of profit his business is making. 
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3) Business 
Costs 

 

State two examples of running costs and explain how you know they are running 
costs 

1)................................................................................................................................................
...................................................................................................................................................
...................................................................................................................................................
...................................................................................................................................................
...................................................................................................................................................
........................................................................................................................ 
...................................................................................................................................................
................................................................... 
 
 
2)................................................................................................................................................
................................................................. 
...................................................................................................................................................
...................................................................................................................................................
...................................................................................................................................................
...................................................................................................................................................
...................................................... 
 
Running or start-up? 
 

Cost Start-up cost Running cost 
Rent   
Computer equipment   
Utility bills   
Staff wages   
New factory building    
Equipment Maintenance   
Initial advertising   
Annual staff training   
Delivery Vehicle   

 

Suitable running costs can include: 

Utility Bills 
Staff Wages 
Rent 
Equipment Maintenance 
Stock purchases / Supplier deliverys 
 
These are all running costs because they are ongoing payments that are made on a consistent basis. 

 


 
 


 


 


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Macy is the owner of Grandio Supermarkets. She has 
been told that she can reduce costs by using ICT. She 
has money to invest but is unsure of what to buy. 
Advise Macy on what she could buy and explain how 
this will benefit the company. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Macy could invest in: 

Computerised accounting systems to speed up the process of creating financial documents – This 

would mean time and money would be saved to be used in other areas of the business. 

Barcode scanners – This would allow Macy to keep a close check on stock as it is all done 

automatically. This again saves time rather than having to count all stock manually. It could also 

save the cost of paying people to do stock checks. 

 

 

 

 

 
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4) Payment Methods 

Create your own payment methods cheat sheet 
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Practice MOP questions 

Explain one advantage and one disadvantage to Sharpe’s world of knives of 
allowing customers to pay using cash. (4) 

Advantage 

___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
____________________________________________________________ 

Disadvantage 

___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
____________________________________________________________ 

 

The wonderful world of Wilson have recently conducted some market research 
and found that most of their customers prefer to pay by debit card rather than cash. 
Explain why some customers may prefer debit cards rather than cash (3) 

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 

Outline one advantage to customers of allowing them to pay by cheque when 
purchasing sports cars from Carr’s cars. (2) 

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 

Outline one disadvantage to Cooper’s clothes of allowing customers to pay by 
credit card. (2) 
___________________________________________________________________________

__________________________________________________________________________ 

Advantages can include: 

Quick cash – received immediately and can then be re‐spent in other areas of the business 

No need for expensive machinery (chip and pin) 

No processing fees 

Disadvantages can include: 

Could result in human error counting it all up 

Is not very secure having lots of cash on the premises, plus it has to be transported to the bank.  

 

Reasons could include: 

Do not have to carry lots of cash; this could be insecure or lost. 

Debit cards are also useful to use online. 

The customer would get to keep the money in their account for another three days.  

Purchasing a car is likely to be expensive and involve a lot of money. Paying by cheque is much 

more secure than carrying large volumes of cash. 

Coopers Clothes would have to pay commission each time they process a card payment. This will 

reduce their profits. 
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Outline one advantage to Richard’s Reem Refrigerators of allowing their 
customers to pay by debit card (2) 

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 

 

 

 

 

This could increase customers as debit cards are a preferred payment method for a lot of 

customers. 

Customers feel more secure in making payments rather than having to carry large amounts of 

cash. 

Transfer of cash is relatively quick 
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5) Profit & Loss Accounts 
 

Profit and Loss account activities 

 

Fill in the blanks to show the order of a profit and loss account: 

 

Sales 
Cost of Sales 
Gross Profit 
Other 
Expenses 
Net Profit 

 

Complete the following profit and loss account: 

Sales £35,000 
Cost of Sales £12,000 
Gross Profit £23,000 
Other Expenses £6,000 
Net Profit £17,000 
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Katy has asked you to help her construct a profit and loss account using the figures 
below 

Sales Revenue – £50,000 

Electricity - £2,000 

Phone Bill - £1,000 

Rent - £12,000 

Cost of sales – £21,000 

 

 

 

 

 

Cost of Sales 

Net Profit 

Electricity 

Phone Bill 

Rent 

£50,000 

£21,000 

£29,000 

£2,000 

£1,000 

£12,000 

£15,000 

£14,000 
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       Will is a farmer who sells cow’s milk to supermarkets and vegetables in his farm 
shop. He needs help constructing a profit and loss account for 2012.  

He has provided the following figures: 

Sales of milk - £138,000 

Electricity - £23,000 

Revenue from farm shop – £24,000 

Rent - £12,000 

Equipment - £15,000 

Cost of sales – £81,000 

  

Cost of Sales 

Net Profit 

Electricity 

Equipment 

£162,000 

£81,000 

£81,000 

£23,000 

£15,000 

£50,000 

£31,000 

Both income so add them both 

together to work out total sales 

Rent £12,000 
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If Will the farmer wanted to increase his Net Profit what would you recommend he 
does? 

___________________________________________________________________
___________________________________________________________________
___________________________________________________________________

_________________________________________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Will could try and increase his Net Profit by: 

Making more sales 

Increases the price of his products and hope that customers still buy them 

Reduce his costs 
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Issac creates wooden garden furniture and sells them on his online store; 
www.issacswood.com. He has asked for your help creating a profit and loss account 
for the previous 6 months: 

Here are his figures: (This one is tough – take your time) 

Online Sales - £86,000 

Raw materials - £37,000 

Rent - £12,000 

Website maintenance - £4,000 

Equipment - £25,000 

Petrol - £1,500 

 

 

 

Cost of Sales 

Net Profit 

Equipment 

Rent 

£86,000 

£37,000 

£49,000 

£25,000 

£4,000 

£12,000 

£42,500 

£6,500 

Website Maintenance 

Petrol £1,500 

Cost of sales are the costs directly 

associated with creating the 

product. Raw materials are 

therefore the cost of sales 
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A business
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Complete the profit and loss account for The Kimberley Hotel for year ending 2011. 
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Final challenge! 

Create a profit and loss account using the figures below: 

Online Sales - £186,000 
In Store Sales – £195,000 
Rent - £87,000 
Equipment - £55,000 
Utility Bills - £11,500 
Wages - £169,000 
Cost of Sales - £81,000 
 
 

Total Sales £381,000 

Cost Of Sales £81,000 

Gross Profit £300,000 

Other Expenses  

Rent £87,000 

Equipment £55,000 

Utility Bills £11,500 

Wages £169,000 

Total Expenses £322,500 

Net Profit 
(£22,500) 

 

 

 

 

 

Remember minus numbers are 

written in brackets! 
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6) Balance 
Sheets 

 

 

 

 

 

 

Business belongings that are expected to be kept for over 12 months

Business belongings that are expected to be kept for under 12 months 

Debts that the business has to pay 

People who you owe money to – They have given you credit 

People who owe you money – They in debt to you 


 




 







 
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Look at the information below and in the end column decide if the item is an asset or 
liability: 

Item Amount £ Asset or liability? 
Cash in the till 565 Asset 

Suppliers awaiting payment 1,000 Liability 
Delivery van 5,000 Asset 

Money in the bank 8,000 Asset 
Stock  6,500 Asset 

Warehouse building 120,000 Asset 
Utility Bill 6,000 Liability 

 

What is the total value of current assets for this business? £565 + £8,000 + £6,500 = 
£15,065 

What is the value of current liabilities for this business? £1,000 + £6,000 = £7,000 

What is the working capital for this business? Current assets – Current Liabilities 

      £15,065 - £7,000 = £8,065  

 

Work out the following for Ice Snax LTD 
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£500 + £300 + £1,000 + £250 = £2,100

£200 + £700 = £900 

£2,100 - £900 = £1,200 

Tax to be paid

Cash in the till

Overdraft to be paid

Advertising bill to be paid

Bank LoanStock in the store room

Business Van

Shelving in the shop

Mortgage

Business Rates

Tools used by the business

Office Furniture

Customers who owe the business money

Cash in the bank
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Complete the shaded cells in the following balance sheet: 
(Use your notes if you need to)  
 

Balance sheet for Harriet’s Hardware Store 

  £  £ 

Fixed Assets     

Property    220,000 

Equipment    40,000 

    260,000 

     

Current Assets     

Stock    35,000 

Cash in the bank    8,000 

    43,000 

     

Current Liabilities     

Utility Bills  7,000   

Supplier Bill  24,000   

     

Working Capital  12,000   

Net Total Assets  272,000   

     

Financed by:     

Capital    200,000 

Profit    72,000 

    272,000 

 

 

 

 

 

 

 

 

 

 

 

 

 



41 
 

 

CJG Photography offer photo shoots as well as selling 
 camera equipment and accessories in their store. 
 

 

 

 

  

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

This one is tough because it’s easy 

to mistake this for camera 

equipment they are selling. 

However if they are selling the 

object it is normally labelled stock. 

Therefore this would have said stock 

of camera equipment 

Working Capital
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Complete the shaded boxes to help Sarena complete her balance sheet 

Balance sheet for Sarena’s Sugary Snacks 2013 

  £  £ 

Fixed Assets     

Property    120,000 

Vehicle    8,000 

    128,000 

     

Current Assets     

Stock    15,000 

Cash in the bank    3,000 

    18,000 

     

Current Liabilities     

Utility Bills  7,000   

Supplier Bill  14,000   

     

Working Capital  (£3000)   

Net Total Assets  125,000   

     

Financed by:     

Capital    112,000 

Profit    13,000 

    £125,000 

 

   

 

 

 

 

 

 

 

 

 

(1) 

(1) 

(1) 
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7) Solvency Ratios 
 

Use the following information to calculate the current and acid test ratios: 

 

 

 

 

The Current Ratio: Current assets ÷ Current Liabilities  

   £12,000 ÷ £14,000 = 0.8;1 

What does this show? 

This shows that the business has a below ideal value and may struggle to pay back debts as 
they do not have enough assets to pay for their liabilities. 

 

The Acid Test Ratio:   Current assets - Stock ÷ Current Liabilities  

   £12,000 - £2,000 ÷ £14,000 = 0.7;1 

 

What does this show?  

This further confirms that this business would struggle to pay back debts as they do not have 
the assets to pay for their liabilities. 

 

Is this business solvent? 

No, this business is not solvent as it does not have ideal values for the current ratio 
or the acid test ratio. 

 

Current assets 
 

12,000

Current liabilities 
 

14,000

Stock 
 

2,000
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Have another go: 

 

The Current Ratio: Current assets ÷ Current Liabilities  

   £18,000 ÷ £10,000 = 1.8;1 

 

What does this show? 

This shows that the business has 1.8 worth of assets to every liability. This is a positive 
figure and shows they are able to pay back their debt. 

 

The Acid Test Ratio:    Current assets - Stock ÷ Current Liabilities  

   £18,000 - £4,000 ÷ £10,000 = 1.4;1 

 

What does this show?  

This shows the business has enough assets to pay back debts regardless of how much of its 
stock it sells. This acid test ratio is an ideal value.  

Current assets 

 
18,000

Current liabilities 

 
10,000

Stock  4,000
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Is this business solvent? 

Yes this business is solvent as both values are within the ideal value range. It shows 
they have enough assets to pay off their liabilities. It also shows they would be able 
to pay off their liabilities even if they were unable to sell their stock. 

 

 

Ok one more: 

 

The Current Ratio: Current assets ÷ Current Liabilities  

   £75,000 ÷ £60,000 = 1..25;1 

 

What does this show? 

This shows that the business does have more current assets than liabilities but it is just short 
of the ideal value. The business might struggle to pay off debts 

 

The Acid Test Ratio: Current assets - Stock ÷ Current Liabilities  

   £75,000 - £20,000 ÷ £60,000 = 0.9;1 

 

What does this show?  

This shows the business would not be able to pay debts if they were unable to sell all of their 
stock. They would only have 0.9 worth of assets to every 1 debt. This would mean they are 
unable to pay.  

 

Is this business solvent? 

The business does not have ideal values for either ratio and therefore would not be 
considered to be a solvent business. They need to sell more stock and turn this in to 
cash which would in turn increase their current assets. They would then be able to 
be considered solvent. 
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If a business has a current ratio of 2.3 what does this mean? 

___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
____________________________________________________________ 

 

 

David is concerned as his Acid-Test ratio is under the ideal value. He is unsure of 
how to improve the ratio. Advise David on how this can be done. 

___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
____________________________________________________________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

It means the business has 2.3 worth of assets to every 1 debt. This is positive because it 
means they have enough current assets to pay current liabilities. However, it is slightly 
above the ideal range. This might mean they have current assets that are not be fully 
utilised. This could be unsold stock or money in the bank that isn’t being used. They 
should consider using these assets in order to generate more income for the business. 

David would need to increase his acid test ratio by increasing his current assets or by 
decreasing his current liabilities. David needs to be aware that stock will not count 
towards current assets in the acid test ratio and therefore producing more stock will not 
correct the problem. David needs to turn sell his current stock and turn this in to profit 
that be used to pay off liabilities or be re-invested. 
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Jenny is considering expanding her business but is unsure if she 
can afford to do so. Using the solvency ratios advise Jenny on 

is

expand
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Mohammed is unsure of what his businesses ratios actually mean. He asked his 
finance department to calculate the ratios and send them to you. 

 

 

 

 

 

Explain to Mohammed what the ratios show about the solvency of his business.  (6) 

__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________ 
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________ 
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________ 
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________ 
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8) Profitability  
Ratios 

 

 

Ok your turn: 

Work out the profitability ratios for this company: 

 

 

 

 

 

 

 

Remember to show your working…and give your answer to two decimal places! 

 Calculation Answer 
Gross Profit Margin £75,000 ÷ £100,000 x100 75% 
Net Profit Margin £11,000 ÷ £100,000 x100 11% 
Return on Capital 

Employed 
£11,000 ÷ £5,000 x100 220% 

What does this show about the business? 

___________________________________________________________________
___________________________________________________________________ 

Sales 

 
100,000

Gross profit 

 
75,000

Net profit 

 
11,000

Capital 

 
5,000

It shows us that the business is profitable. It is difficult to compare it’s performance as we cannot 

see previous year’s figures but we can see that the business is making money. It is also clear that 

the owner has made a good return on the original investment he has put in to the company. 
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Ok try this one: 

 

Blane the owner invested £45,000 to start the business. 

Work out the profitability ratios for both years 

2012 

 Calculation Answer 
Gross Profit Margin £34,500 ÷ £56,000 x100 61.6% 
Net Profit Margin £22,000 ÷ £56,000 x100 39.28% 
Return on Capital 

Employed 
£22,000 ÷ £45,000 x100 48.88% 

 

2013 

 Calculation Answer 
Gross Profit Margin £48,000 ÷ £64,500 x100 74.41% 
Net Profit Margin £25,450 ÷ £64,500 x100 39.45% 
Return on Capital 

Employed 
£25,450 ÷ £45,000 x100 56.55% 

 

Blane (the owner of the business) has asked you to explain to him what the 
profitability ratios show. 

___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________

_____________________________________________________  

 

The ratios show that Blane’s business is making a profit in both 2012 and 2013. It has also shown 

sign of improvement from 2012 to 2013 as all percentages are higher. Sales are also higher from 

2012 to 2013 so it shows that the business is selling more of its products. 

It does show that although Gross profit has increased sharply from 2012 to 2013 the net profit 

hasn’t risen quite as much. This could mean cost of sales has decreased or Blane needs to look 

further at other expenses as Net Profit has increased in the same way as Gross Profit. 

It shows that Blane in 2013 has returned 56.55% of his original investment. 

Overall this is a healthy business that is making profit and showing signs of improvement. 
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The past two years Sam’s accountant worked out that the businesses Gross Profit Margin. 

There were as follows: 
 

2009 2010 
69% 71% 

 
This year however Sam’s account has said he ‘can’t be arsed’ and therefore Sam has asked 

you to help out.  
Using the following figures work out the Gross Profit Margin for 2011. 

 
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Sales 

 
175,000

Gross profit 

 
136,000

Net profit 

 
95,000

Capital 

 
125,000

(2) 

£136,000  ÷ £175,000 X 100 

 

= 77.71% 

The business has shown an upward trend in the gross profit margin as it has 
climbed from 69% in 2009 to 71% in 2010 and 77.71% in 2011. This is a positive 
sign for the business and shows they are either making more sales or reducing the 
cost of sales. An increase in Gross Profit will also allow the business to cover the 
costs of their other expenses and increase their net profit. 
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If they are feeling particularly evil the examiners can test you on both ratios together in one 

question. Try this one: 
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Contiuned from previous question: 
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9) Importance of financial 

documents to stakeholders 
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Mark scheme continues on the next page… 
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